
第 6回 小テスト (積分)

学生番号　　　　　　　　　 氏名　　　　　　　　　　　

1. 次の不定積分を求めなさい.

(1)

∫
2x sinxdx

答. ∫
2x sinxdx =

∫
2x(− cosx)′dx

=2x(− cosx)−
∫

(2x)′(− cosx)dx

=− 2x cosx−
∫

2 · (− cosx)dx

=− 2x cosx+ 2 sinx+ C (C は積分定数)

(2)

∫
xe2xdx

答. ∫
xe2xdx =

∫
x

(
1

2
e2x

)′
dx

=x ·
1

2
e2x −

∫
(x)′ ·

1

2
e2xdx

=
1

2
xe2x −

1

2

∫
e2xdx

=
1

2
xe2x −

1

4
e2x + C

=

(
1

2
x−

1

4

)
e2x + C (C は積分定数)

(3)

∫
e2x sinxdx

答. I =

∫
e2x sinxdxと置くと,

I =

∫
e2x sinxdx =

∫
e2x(− cosx)′dx

=e2x · (− cosx)−
∫ (

e2x
)′ · (− cosx)dx

=− e2x cosx−
∫

2e2x · (− cosx)dx

=− e2x cosx−
∫

2e2x · (− sinx)′dx

=− e2x cosx−
(
2e2x · (− sinx)−

∫ (
2e2x

)′ · (− sinx)dx

)
=− e2x cosx+ 2e2x sinx− 4

∫
e2x sinxdx

=(− cosx+ 2 sinx)e2x − 4I

従って, 5I = (− cosx+ 2 sinx)e2x である. よって,

I =
1

5
(− cosx+ 2 sinx)e2x

(4)

∫
log(x+ 2)dx

答. ∫
log(x+ 2)dx =

∫
log(x+ 2) · (x+ 2)′dx

= log(x+ 2) · (x+ 2)−
∫

(log(x+ 2))′ · (x+ 2)dx

=(x+ 2) log(x+ 2)−
∫

1

x+ 2
· (x+ 2)dx

=(x+ 2) log(x+ 2)−
∫

dx

=(x+ 2) log(x+ 2)− x+ C (C は積分定数)


